(2)%&(T2—2)

(HF3EF)
3t E x BAE#HELE
o o AN [ 1T IR I
weese ek | G B e wl el A len oo 20 | e | s
% = | o i

£ = 6.6 11.7] A5 1.7 0.8 19.7 9.9 10.0 34 2.7 0.6 4.1 1.50
Iz B2 6.0 123 A63 14 0.9 16.5 8.6 8.0 3.1 24 0.7 34| 131
BTN 5.8 12| A54 0.8 - 8.6 47 39 3.1 3.1 - 33 1.32
ERMEm 6.7 94| A28 - - 5.3 26 26 26 26 - 34| 124
EEs 5.9 96| A37 1.7 - 10.2 5.1 5.1 34 34 - 33| 1.36
IR A ET 7.6 95 A19 - - - - - - - - 49/ 1.39
= hnEr 6.8 141  A73 - - - - - - - - 23| 1.07
JIIiDET 5.1 120 A6.9 - - 19.6 - 19.6 - - - 29| 164
+5RET 3.9 262 A223 - -| 1333] 1333 - 71.4 71.4 - 36| 211
J\EEET 3.0 188| A158 - - - - - - - - 2.1 0.80
=My 3.7 21.8| A18.1 - - - - - - - - 1.7 166
E3=NIES 4.1 19.3| A152 - - - - - - - - 36| 101
il T 48 133| A85 - - - - - - - - 34| 122

<BLEOEHAE>
H4-FET - 3R - B IR = 1 M DB 3108 1 BIRAD A O x 1,000
BREME=(1EHOEER—1EROETE) 1081 BEAEDAD x1,000
EER(BARWER ATRER)=E(BR- ALK/ HE (HE+EE) # x 1,000
AR CERGFERETCE REHFERECR)=ARECHEFER - BHFHFERETE).HEH x 1,000
EERATE TS R =T IR 22 LUk D SEEE S+ B EAST A RSB T80 tH BE(HH A 3+ 0T 4R 78 2258 LA 1% D 7 30 %K x 1,000
D4R 2 258 LAt D FE B R = TR 22:8 ARG D SEEE SR HH 2 (B A4k + 3R IR 22:B LIBE D FEEESR) x 1,000

KEFIAOFH,
EERVEOHERT. EEFBHELKIE.

<FHHIAWADOHIE>
£E : SM3FI0A 1 HRAEHEI AD (BBLEHREHR)
I B IR R UTHHETA - SFI3E10A 1 BREHE A D (REFETER)




